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HAEERE
ARBRIX 7Y RhREN CLE=E2 LB
S35l S HERER iz 42 36 85.7%
ESENFMRIELLERRR 6 5 83.3%
E7SERENERPERER 56 53 94.6%

HHFERE
LBRIX 53 ZRE CLEEEES BIgR
SR RAEA RS iz 39 23 59.0%
EAEFRRGELLERRR % 7 6  85.7%
SE7ABDREIRERER 45 a4 97.8%

HIEERE
ARBRIX 7Y BN CLE=E2 LB
SE33E AR HERER iz 49 26 53.1%
EEFHRELLERRR 5 5 4 80.0%
ERE L U e S 64 53 82.8%

HHTEEEE
LBRIX 53 ZRRE CLEEEE BIgR
SE3 2B RAEA RS iz 26 10 38.5%
EREFHRGELLERRR % 5 4 80.0%
E72ERFEIREERER i 53 50 94.3%

THI0FERE
LBRIX 53 ZRRE CLEEEES BIgR
SE3 1 SR HERER iz 40 24 60.0%
EEFHREELLERRR 7 4 57.1%
7B ERERPERAR 62 59 95.2%




